Test 3 Review

Tuesday, November 27, 2018 1:01 PN

M.C. part  $|\#1](2x^{3}+3x^{2}+4x-10)\div(x+1)$ -1 2 3 4 -10 -13 - Remainder = - 13 2 1 3 Quotient :  $2x^2 + x + 3$  $[\#2] f(x) = 22x^{7} + 88x^{3} + 2x - 11$ Possible national zeros =  $\frac{P}{9}$  - Factor of -11 9 - Factor of 22 Factors of  $-11 = \pm 1, \pm 11$ Factors of  $22 = \pm 1, \pm 2, \pm 11, \pm 22$  $L_{int} = \left\{ \pm 1, \pm \frac{1}{2}, \pm \frac{1}{41}, \pm \frac{1}{22}, \pm 11, \pm \frac{11}{2} \right\}$ 

(1) Factor  
(1) Factor  
(1) Factor  
(1) Set bottom = C  

$$f(x) = \frac{x^2 + 5x - 14}{x^2 - 2x - 8} = \frac{(x + 7)(x - 2)}{(x - 4)(x + 2)}$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = 4; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = -2; x = -2$$

$$(x - 4)(x + 2) = 0 \qquad x = -2; x = -$$

Tuesday, November 27, 2018 1:18 PM  $f(x) = \frac{6}{x-8}$ ;  $g(x) = \frac{5}{2x}$  $(f \circ g)(x) = f(g(x)) =$ 8 · Zx 2 x 1.2x  $=\frac{6}{1}\cdot\frac{2\times}{5-16}$ 5 - 16x5 - 16× 2 x 12× 5 - 16×  $(f \circ q)(x)$ Find inverse function of  $f(x) = 5x^3 - 8$ y = 5x<sup>3</sup> - 8 (Replace f(x) by y) \_\_\_\_ Solve for x  $y + 8 = 5x^3 \longrightarrow \frac{y+8}{5} = x^3 \longrightarrow x = \sqrt{\frac{y+8}{5}}$  $y = \sqrt[3]{\frac{x+8}{5}} - f^{-1}(x) = \sqrt[3]{\frac{x+8}{5}}$ 

Tuesday, November 27, 2018 1:28 PM

Given  $\log_{b} A = 3.584$ ;  $\log_{b} B = 0.3$ #11 Find log A = log A - log B J B J Ob B J Quotient Rule = 3.584 - 0.3 = 3.2841 log x + 4 log y - 2 log x Power Rule  $\frac{1}{2} + \log_{a} y - \log_{a} x^{2}$  $= \log_{a} \left( \frac{|x^{2}|_{y}^{4}}{|x^{2}|_{y}^{4}} \right) = \log_{a} \left( \frac{|y^{4}|_{y}^{4}}{|x^{2}|_{z}^{2}} \right)$  $= \log_{a}\left(\frac{y^{4}}{312}\right)$ Product & Que tient